Standard Back Canes with Grip - 9000SL

9000 SL

Before 7/12/99 After 7/11/99



Standard Back Canes with Grip - 9000SL

Quantity Per
Item
Number | Note | Part Number |Description Package | Assembly
1 1057248 Grip, Hand, Foam (4-3/4") 1 1
2 1058561-NLA | NLA - Screw, Hex Head (1/4-20 x 1-1/2") 1 1
3 1056551 Insert 1 1
4 60275X000 Locknut (1/4-20) 1 1
5 A See Chart Standard Back Canes with Grip - 9000SL 1 1
6 1057955 Screw, Hex Head (1/4-20 x 1-1/4") 1 1
7 1056551 Insert 1 1
8 1025195 Locknut (1/4-20) 1 1
9 B See Chart Standard Back Canes with Grip - 9000SL 1 1
10 16720X004 Screw, Hex Head (1/4-20 x 1-1/2") 1 1
11 1056110-NLA | NLA - Bracket, Armrest, Chrome 1 1
12 1025457 Spacer, Coved (1/4 x 3/4 x 11/32") 1 2
13 1029583-NLA | NLA - Screw, Socket Button Head (1/4-20 x 1 1
1-7/16")
14 1013046-NLA | NLA - Screw, Hex Head (1/4-20 x 1-3/4") 1 1
NOTE: A - To be used with models manufactured before 7/12/99. Includes items 1-5.
B - To be used with models manufactured after 7/11/99. Includes items 1, 6, 7 and 8.
Standard Back Canes with Grip - 9000SL
Back Height Part Number
15" 1058203-NLA
See Note(s) A
15- 17" 1091102
See Note(s) B
16" 1058204-NLA
See Note(s) A
17" 1058205-NLA
See Note(s) A
17 - 19" 1091103
See Note(s) B
18" 1058206-NLA
See Note(s) A
19" 1058207-NLA
NOTE: A - Before 7/19/99

B - After 7/18/99




